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1. BEHIZHER A +2x—6=2(x—1)(2x+3) > HIEF FFIBEEfE AR 4x° + 2x — 6 YA ?

(A) 4x+6 (B) 2x—6 (C) 1-x (D) %(2x+3)

2. FEIE IR A A 2

(A) x>+4x+9=(x+3)(x+3) (B) 5x%-9x-2=(5x+1)(x-2) (C) 2x*-x-3=(x-1)(2x-3)  (D)6x?-5x-6=(3x+1)(2x-3)

3. A —{EEEE AR TR ¢ = 9 A ARV ? (A)4x® =36 (B)(x+3)(x-3)=0  (C)x*+x=x+9  (D)x*+2x-9=0
4. BR—EHNERE R 6x*+23x+21 > QI NS E IR T TEATER 2 (A)6x+7
(B)x+3  (C)3x+7  (D)2x+1 B o A
5. NHIME TERVAE R T S L8R A - B BEREAYALE ?
(A) x(x-3)=0 (B) (2x+1)(x-3)=0 (C) (5x+1)(2x-1)=0 (D) (4x+5)(2x-1)=0
6. 5 a RIEEHITIER x*-2x-a=0 AYRIIRLS Ryl » AIl a o] B NAII—{E8 ?
(A) 2x3x5x7 (B) 2x3x7x11 (C) 3x5x7x11 (D) 3x5x7x13
7. BTREEOA-5x+6=0 FFHEC AL ¢ (x-a)%=b » 53K a ~ b ZfH Fyfa] ?
5 1 5 1 5 3 5 1
(A) a_E’b_Z (B) a_Z’b_Z (Q) a_E,b_Z (D) a_Z’b_E
8. NHIE—{E A2 A AE Ry Wi AE 2R 2
(A) x?+2x+1=0  (B) x2-4x+4=0 (C) XIZ— 2x+4=0 (D) x?>-3x-2=0
o. HNEFTT > B~ Z - WA o AIFIIBE R T DR R B2 T T T
(A) —fEH ~ ZfHL (B) TH{EH ~ =& ~ KU =
(C) IUfEER ~ PUfE 2 ~ —{E A (D) —{EE ~ PUfE L ~ PO{EA ® s

10. T FREEGET /\FYEAF T EETSRE RS RE IR - &/ EFESEA L 400 A > RIZESIRR
KIAEERY 10 /NFHYAEE %/ D A ?
SRS (B ) 2 4 6 8 10 12
MHEXE (%) | 6 10 22 35 18 9
2100 TPaT
¥ 90 5 100
(A) 108 A (B) 124 A (C) 152 A (D) 106 A H 80
%j 70 60
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11 BB A3 A ROR R SRS A T R Ry T4 E - % B
R A SO S B (R Y R B Ry o] 2
(A) 16~20F%  (B) 12~160%  (C)8~120%

12. NRE 500 (24T E kR G RS RBOIACTR - BHYFAS TP AV ER () & 1A 2

Tol 110
(D) 4~8 1 7

8 12 16 20 24
tRgfi (B )

(A) a=12 (B)b=17  (C)c=65 (D)e=83
EEE (A9 ) 100~120 | 120~140 | 140~160 | 160~180 | 180~200 | 200~220 | 220~240
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+ TR (40%)

R T 51520

(1). x2-2x= 0)

(2). (x+2)(x=2)+(x+3)(x-2)= ©)
(3). 3x2+13x-10 = ®

(4). (x-2)2-36 = ®

(5). (2x-1)(x+1)-5 = ®

e NI TR

(6). (3x+2)(2x-1)=x(2x-1)  x= ®
(7). (2x-3)2=6 x= @
(8). x2-3x+1=0 x=
(9). x2-10x-875=0 x= ©
(10). 6x2+19x-55=0 x= ®
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°K 20222 -21x2022 - 22=7

ANFERBC T AR —IT IO x+ax+1=0 HYER (B2 40 T - SF TR AR SR AHE m L a= 2

x2+ax+1=0

(x-[])*=
x=2++/3 B x=2- V3
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